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Corrigé de l’activité 2

1.- (x+1)2=x2+2x+1

Donc x2+2x=(x+1)2−1

2.- (x+ 3
2
)
2

=x2+2. 3
2
.x+( 3

2
)
2

=x2+3 x+ 9
4

Donc x2+3x=(x+ 3
2
)
2

−9
4

3.- 2x2+3x=2(x2+ 3
2
x)

x2+3x=(x+ 3
2
)
2

−9
4

 donc x2+3
2
x=(x+ 3

4
)
2

− 9
16

Et 2(x2+ 3
2
x)=2[(x+ 3

4
)
2

− 9
16

]

Donc 2x2+3x=2[(x+ 3
4
)
2

−( 3
4
)
2

]

4.- f(x)=x2+3x−4

Alors f(x)=(x+ 3
2
)
2

−9
4
−4=(x+3

2
)
2

−9
4
−16
4

Ainsi f (x)=(x+ 3
2
)
2

−(5
2
)
2

Date de version : Juillet 2018 Auteur : Équipe de maths 1/1

http://www.accesmad.org/

